SRI SHRIDEVI CHARITABLE TKUST (R.)

SHRIDEVI INSTITUTE OF ENGINEERING & TECHNOLOGY



(An ISO 9001:2015 Certified Institution), Recognized by Govt. of Karnataka. Sira Road, Tumkur - 572 106, Karnataka, India.

(Affiliated to Visvesvaraya Technological University &

Approved by AICTE, New Delhi Vide 06/06/KTK/ENGG/02/017 Dt. 27-05-2002)

Phone: 0816 -2212629 / Principal: 0816-2212627 Tele Fax: 0816 - 2212628



Ref: SIET/VTU/2019-20/140

24-09-2019

Website: www. shrideviengineering.or

To The Registrar, Visvesvaraya Technological University, Jnana Sangama, BELGAUM - 590014.

e-mail =info@shrideviengineering.org , principal@shrideviengineering.org

Sir,

Sub: Furnishing the list of students admitted to I year B.E and II year BE Lateral Entry for the Academic year 2019-20 and Remittance of Registration and Eligibility Fees - Reg.

Ref: Your office letter No: VTU/BGM/Aca-OS/Gen-Cirs/2019-20/4810 dated 19-9-2019

With reference to the above subject, we are herewith furnishing the list of students admitted to I year B.E and II year Lateral Entry for the approval of Admission for the Academic year 2019-20. We have made the payment of Rs.17,59,6000/-(Seventeen Lakh Fifty Nine Thousand Six Hundred) only though <u>SBI online</u>. Details are as below.

Sl. No	Amount	Reference No	Date
1	186000	DUC3782088	23-11-2019
2	612000	DUC3782223	23-11-2019
3	476000	DUC3782746	23-11-2019
4	197600	DUC3914288	26-11-2019
5	288000	DUC3914808	26-11-2019
Total	1759600	/	

towards Registration and Various Academic fees for the academic year 2019-20.

		The state of the	2017-20.
Abstract	No. of students	Amount per	Total Amount
Total CET Students	38	4,575	
Total SC/ST CET Students			1,73,850
Total Mgmt. Karnataka Students	22	7,575	1,66,650
Total Mgnit. Kamataka Students	126	7,575	9,54,450
Total Mgmt. Non Karnataka Students	22	9,075	1,99,650
Total Mgmt. Foreign Students		19,075	1,99,000
Total Diploma CET Students	06		
Total Diploma SC/ST CET Students	06	4,075	24,450
Total Di 1	02	7,075	14,150
Total Diploma Mgmt. Karnataka Students	32	7,075	
Total Diploma Mgmt. Non Karnataka Students	-		2,26,400
TOTAL		8,575	
TOTAL			17.59.600

This is for your kind information.

Thanking you

Yours Sincerely,

(Dr. Narendra Viswanath)

PRINCIPAL
SHRIDEVI INSTITUTE OF
ENGINEERING & TECHNOLOGY
TUMKUR - 572101,





JNANA SANGAMA,, BELAGAVI-590018

Date: 23-Nov-2019

e-Receipt for State Bank Collect Payment

S BCollect Reference Number	DUC3782223
Category	D-FEES TO BE PAID BY COLLEGES -UG COURSES
NAME OF THE COLLEGE	SHRIDEVI INSTITUTE OF ENGINEERING & TECHNOLOGY
COLLEGE CODE	1SV
CONTACT DETAIL	DR. NARENDRA VISWANATH
PLACE	TUMKUR
REGISTRATION FEE	612000
RE ADMISSION FEE	0
NSS FEE	0
TRANSFER FROM ONE COLLEGE TO ANOTHER	0
CHANGE OF BRANCH	0
FINE FEES	0
MIGRATION FEES	0
E LEARNING FEES	0
E CONSORTIUM FEES	0
SPORTS FEES	0
SPORTS DEVELOPMENT FEES	0 •
CARRIER GUIDANCE AND SERVICE FUND	0
UNIVERSITY DEVELOPMENT FUND	0,
CULTURAL ACTIVITY FEE	0
WOMEN CELL FEE	0

ELIGIBILITY FEES FOR KARNATAKA

44490 IO CAID	https://www.onlinesbi.com/sbicollect/paymenthistory/paymenthistoryredirecturl.h	tm
11/23/2019 EUGIBILITY FEES FOR NON ARNATAKA	0	
ELIGIBILITY FEES FOR FOREIGN	0	
ANNUAL E CONS MEMBERSHIP FEES	0	
CUSTOM DUTY CERTIFICATE FEE	ES 0	
PROCESSING FEE-NON CBCS (O	NE 0	
Transaction charge	53.10	
Total Amount (In Figures)	6,12,053.10	
Total Amount (In Words)	Rupees Six Lakhs Twelve Thousand Fifty Three and Paise 1	en Only
Remarks		

SUBMISSION

FOR FURTHER PROCESSING

Notification 1

Notification 2

FEE ONCE PAID WILL NOT BE REFUNDED UNDER ANY

CIRCUMSTANCES - KINDLY VERIFY THE DATA ENTERED BEFORE FINAL

SUBMIT THE NECESSARY DOCUMENTS ALONG WITH FEE RECEIPT





JNANA SANGAMA , , BELAGAVI-590018

Date: 23-Nov-2019

SB Collect Reference Number	DUC3782746
Ca tegory	D-FEES TO BE PAID BY COLLEGES -UG COURSES
NAME OF THE COLLEGE	SHRIDEVI INSTITUTE OF ENGINEERING & TECHNOLOGY
COLLEGE CODE	1SV
CONTACT DETAIL	DR NARENDRA VISWANATH
PLACE	TUMKUR
REGISTRATION FEE	0
RE ADMISSION FEE	0
NSS FEE	0
TRANSFER FROM ONE COLLEGE TO ANOTHER	0
CHANGE OF BRANCH	0
FINE FEES	0
MIGRATION FEES	0
E LEARNING FEES	476000
E CONSORTIUM FEES	0
SPORTS FEES	0
SPORTS DEVELOPMENT FEES	0
CARRIER GUIDANCE AND SERVICE	0
UNIVERSITY DEVELOPMENT FUND	0
CULTURAL ACTIVITY FEE	0
WOMEN CELL FEE	0
ELIGIBILITY FEES FOR KARNATAKA	0

11/23/2019	https://www.onlinesbi.com/sbicollect/paymenthistory/paymenthistoryredirecturl.htm
ELIGIBILITY FEES FOR NON KARNATAKA	0
ELIGIBILITY FEES FOR FOREIGN	0
ANNUAL E CONS MEMBERSHIP FEES	0
CUSTOM DUTY CERTIFICATE FEES	0
PROCESSING FEE-NON CBCS (ONE TIME EXIT SCHEM)	0
OTHERS	0
Transaction charge	29.50
Total Amount (In Figures)	4,76,029.50
Total Amount (In Words)	Rupees Four Lakhs Seventy Six Thousand Twenty Nine and Paise Fifty Only
Remarks	
Notification 1	FEE ONCE PAID WILL NOT BE REFUNDED UNDER ANY CIRCUMSTANCES - KINDLY VERIFY THE DATA ENTERED BEFORE FINAL SUBMISSION
Notification 2	SUBMIT THE NECESSARY DOCUMENTS ALONG WITH FEE RECEIPT

FOR FURTHER PROCESSING

https://www.orimiesur.com/spicorrect/paymenthistory/paymenthistoryredirecturl.htm





VISVESVARAYA TECHNOLOGICAL UNIVERSITY

JNANA SANGAMA,, BELAGAVI-590018

Date: 26-Nov-2019

	The state of the s	the contraction of the contracti
SBCollect Reference Number	DUC3914808	And the state of t
Category	D-FEES TO BE PAID BY COLLEGES -	O OOLING
NAME OF THE COLLEGE	SHRIDEVI INSTITUTE OF ENGINEERIN	JG COURSES
COLLEGE CODE	1SV	G & TECHNOLOGY
CONTACT DETAIL	DR. NARENDRA VISWANATH	
PLACE	TUMKUR	1
REGISTRATION FEE	O	
RE ADMISSION FEE	0	
NSS FEE	0	
TRANSFER FROM ONE COLLEGE TO ANOTHER	0	
CHANGE OF BRANCH	0	
FINE FEES	0	
MIGRATION FEES	0	
E LEARNING FEES	0	The state of the s
E CONSORTIUM FEES	0	And the same of th
SPORTS FEES	24800	
SPORTS DEVELOPMENT FEES	37200	
CARRIER GUIDANCE AND SERVICE FUND	0	
UNIVERSITY DEVELOPMENT FUND	0	
CULTURAL ACTIVITY FEE	0	
WOMEN CELL FEE	0	
ELIGIBILITY FEES FOR KARNATAKA	226000	
//www.onlineshi.com/shicolloct/poww.		

4.4	MOMO	10
11	126/20	19

https://www.onlinesbi.com/sbicollect/paymenthistory/paymenthistoryredirecturl.htm

6/2019	https://www.commodulecom.com
ELIGIBILITY FEES FOR NON KARNATAKA	0
ELIGIBILITY FEES FOR FOREIGN	0
ANNUAL E CONS MEMBERSHIP FEES	
CUSTOM DUTY CERTIFICATE FEES	0
PROCESSING FEE-NON CBCS (ONE TIME EXIT SCHEM)	. 0
OTHERS	0
Transaction charge	29.50
Total Amount (In Figures)	2,88,029.50
Total Amount (In Words)	Rupees Two Lakhs Eighty Eight Thousand Twenty Nine and Paise Fifty Only
Remarks	
Notification 1	FEE ONCE PAID WILL NOT BE REFUNDED UNDER ANY CIRCUMSTANCES - KINDLY VERIFY THE DATA ENTERED BEFORE FINAL SUBMISSION
Notification 2	SUBMIT THE NECESSARY DOCUMENTS ALONG WITH FEE RECEIPT FOR FURTHER PROCESSING
The same of the sa	





JNANA SANGAMA,, BELAGAM-590018 Date: 26-Nov-2019

SBCollect Reference Number	DUC3914288
Category	D-FEES TO BE PAID BY COLLEGES -UG COURSES
NAME OF THE COLLEGE	SHRIDEVI INSTITUTE OF ENGINEERING & TECHNOLOGY
COLLEGE CODE	1SV
CONTACT DETAIL	DR NARENDRA VISWANATH
PLACE	TUMKUR
REGISTRATION FEE	0
RE ADMISSION FEE	0
NSS FEE	0
TRANSFER FROM ONE COLLEGE TO ANOTHER	0
CHANGE OF BRANCH	0
FINE FEES	0
MIGRATION FEES	0
E LEARNING FEES	0
E CONSORTIUM FEES	0
SPORTS FEES	0
SPORTS DEVELOPMENT FEES	0
CARRIER GUIDANCE AND SERVICE FUND	4960
UNIVERSITY DEVELOPMENT FUND	124000
CULTURAL ACTIVITY FEE	12400
WOMEN CELL FEE	1240
ELIGIBILITY FEES FOR KARNATAKA	0

11/26/2019	https://www.onlinesbi.com/sbicollect/paymenthistory/paymenthistoryredirecturl.htm
ELIGIBILITY FEES FOR NON KARNATAKA	55000
ELIGIBILITY FEES FOR FOREIGN	0
ANNUAL E CONS MEMBERSHIP FEES	0
CUSTOM DUTY CERTIFICATE FEES	0
PROCESSING FEE-NON CBCS (ONE TIME EXIT SCHEM)	0
OTHERS	0
Transaction charge	29.50
Total Amount (In Figures)	1,97,629.50
Total Amount (In Words)	Rupees One Lakh Ninety Seven Thousand Six Hundred Twenty Nine and Paise Fifty Only
Remarks	
Notification 1	FEE ONCE PAID WILL NOT BE REFUNDED UNDER ANY CIRCUMSTANCES - KINDLY VERIFY THE DATA ENTERED BEFORE FINAL

SUBMIT THE NECESSARY DOCUMENTS ALONG WITH FEE RECEIPT

SUBMISSION

FOR FURTHER PROCESSING

Notification 2





JNANA SANGAMA,, BELAGAVI-590018

Date: 23-Nov-2019

SBCollect Reference Number	DUC3782088
Category	D-FEES TO BE PAID BY COLLEGES -UG COURSES '
NAME OF THE COLLEGE	SHRIDEVI INSTITUTE OF ENGINEERING & TECHNOLOGY
COLLEGE CODE	1SV
CONTACT DETAIL	DR. NARENDRA VISWANATH
PLACE	TUMKUR
REGISTRATION FEE	0
RE ADMISSION FEE	0
NSS FEE	0
TRANSFER FROM ONE COLLEGE TO ANOTHER	
CHANGE OF BRANCH	0
FINE FEES	0
MIGRATION FEES	0
E LEARNING FEES	0
E CONSORTIUM FEES	186000
SPORTS FEES	0
SPORTS DEVELOPMENT FEES	0
CARRIER GUIDANCE AND SERVICE FUND	0
UNIVERSITY DEVELOPMENT FUND	0
CULTURAL ACTIVITY FEE	0
WOMEN CELL FEE	0
ELIGIBILITY FEES FOR KARNATAKA	0

11/23/20 19	https://www.onlinesbi.com/sbicoflect/paymenthistory/paymenthistoryredirecturl.htm	
ELIGIBILITY FEES FOR NON KARNATAKA	0	
ELIGIBILITY FEES FOR FOREIGN	0	
*ANNUAL E CONS MEMBERSHIP FEES	0	
CUSTOM DUTY CERTIFICATE FEE	s 0	
PROCESSING FEE-NON CBCS (OF TIME EXIT SCHEM)	NE 0	
OTHERS	0	
Transaction charge	29.50	
Total Amount (In Figures)	1,86,029.50	
Total Amount (In Words)	Rupees One Lakh Eighty Six Thousand Twenty Nine and Paise Fifty Only	

Remarks Notification 1

FEE ONCE PAID WILL NOT BE REFUNDED UNDER ANY
CIRCUMSTANCES - KINDLY VERIFY THE DATA ENTERED BEFORE FINAL

SUBMISSION

SUBMIT THE NECESSARY DOCUMENTS ALONG WITH FEE RECEIPT Notification 2

FOR FURTHER PROCESSING

SHRIDEVI INSTITUTE OF ENGINEERING & TECHNOLOGY



(An ISO 9001:2015 Certified Institution), Recognized by Govt. of Karnataka. Sira Road, Tumkur - 572 106, Karnataka, India.

ANAB n ISO 9001:2015 Certifi

(Affiliated to Visvesvaraya Technological University & Approved by AICTE, New Delhi Vide 06/06/KTK/ENGG/02/017 Dt. 27-05-2002) Phone: 0816 -2212629 / Principal : 0816-2212627 Tele Fax: 0816 - 2212628

e-mail: info@shrideviengineering.org, principal@shrideviengineering.org

Website: www. shrideviengineering.org

Ref: SIET/VTU/2019-20/13/kg)

18-11-2019

To The Registrar, Vivesvaraya Technological University, Jnanasangama, BELGAUM.

Sir,

Sub: List of students admitted to First Year MBA and M.Tech for the academic · year 2019-20 - Reg.

Ref: Your Office Letter No: VTU/BGM/Aca- OS/PG- Cirs/2019-20/6768 Dt. 9-11-2019

With reference to the above subject, we are herewith enclosing list of students admitted to First Year MBA and M.Tech for the academic year 2019-20 of Government Seats & Management Seats in Annexure I,II, III & V along with Original Marks Cards and attested Xerox copies along with SBI Online payment Acknowledgement Reference No: DUC 3915 \$93 for Rs. 377250 /- (Three Lakh Seventy Seven Thousand Two Hundred and Fifty only) towards Registration and Eligibility fees.

Abstract	No. of students	Amount Per Student	Total Amount
Total PGCET Students MBA	2	4325/-	8650/-
Total PGCET SC & ST MBA	1	7825/-	7825/-
Total MBA Management Seats - K	39	7825/-	305175/-
Total MBA Management Seats- NK	0		0001707=
Total PGCET Students M.Tech	2	4325/-	96507
Total PGCET SC & ST M. Tech	1		8650/-
Total M. Tech Management Seats - K	- 5	7825/-	7825/-
Total M.Tech Management Seats -NK	- 3	7825/-	39125/-
	0		-
anking you			377250/-

Thanking you

Yours Sincerely,

TUMKUR - 572106

PRINCIPAL K PRINCIPAL SHRIDEVI INSTITUTE OF ENGINEERING & TECHNOLOGY





JNANA SANGAMA,, BELAGAM-590018

Date: 26-Nov-2019

SBCollect Reference Number	DUC3915593
Category	D-FEES TO BE PAID BY COLLEGE FOR P G COURSES
NAME OF THE COLLEGE	SHRIDEVI INSTITUTE OF ENGINEERING & TECHNOLOGY
COLLEGE CODE	1SV
CONTACT DETAIL	DR. NARENDRA VISWANATH
PLACE	TUMKUR
REGISTRATION FEE	161000
RE ADMISSION FEE	0
NSS FEE	0
FINE FEES	0
E LEARNING FEES	50000
E CONSORTIUM FEES	75000
SPORTS FEES	5000
SPORTS DEVELOPMENT FEES	7500
CARRIER GUIDANCE AND SERVICE FUND	1000
UNIVERSITY DEVELOPMENT FUND	25000
CULTURAL ACTIVITY FEE	2500
WOMEN CELL FEE	250
ELIGIBILITY FEES FOR KARNATAKA	50000
ELIGIBILITY FEES FOR NON KARNATAKA	0
ELIGIBILITY FEES FOR FOREIGN	0
ANNUAL E CONS MEMBERSHIP FEES	0

11/26/2019	https://www.onlinesbi.com/sbicoflect/paymenthistory/paymenthistoryredirecturl.htm
CUSTOM DUTY CERTIFICATE FE	ES 0
OTHERS	
Transaction charge	29.50
Total Amount (In Figures)	3,77,279.50
Total Amount (In Words)	Rupees Three Lakhs Seventy Seven Thousand Two Hundred Seventy Nine and Paise Fifty Only
Remarks	
Notification 1	FEE ONCE PAID WILL NOT BE REFUNDED UNDER ANY CIRCUMSTANCES - KINDLY VERIFY THE DATA ENTERED BEFORE FINAL SUBMISSION
Notification 2	SUBMIT THE NECESSARY DOCUMENTS ALONG WITH FEE RECEIPT FOR FURTHER PROCESSING

21,36,850
200.60

JH2: 62949.40

College Name: SHRIDEVI INSTITUTE OF ENGINEERING AND TECHNOLOGY TUMKUR-06

UG/PG Course

Calculation of Higher Semester Fees for the year 2019-20

UG III Sem

Particulars			SI. No. Particulars Table 19							
, articulars	Total No. of Students	Fees (Per Student)	Total Amount	Online receipt No./ RTGS No.	Date					
E-Consortium Fee	91									
Sports Fee			68250							
Sports Development Fee			9100							
		150	13650							
		20	1820							
	91	500	45500							
	91	50								
Women Cell Fee	91	5	The state of the s							
NSS Fee #	91	0	433							
Total Amount		1575	440005							
	Sports Fee Sports Development Fee CGS Fee University Development Fund Fee Cultural Activities Fee Women Cell Fee	Sports Fee 91 Sports Development Fee 91 CGS Fee 91 University Development Fund Fee 91 Cultural Activities Fee 91 Women Cell Fee 91 NSS Fee # 91	E-Consortium Fee 91 750 Sports Fee 91 100 Sports Development Fee 91 150 CGS Fee 91 20 University Development Fund Fee 91 500 Cultural Activities Fee 91 50 Women Cell Fee 91 5 NSS Fee # 91 0	E-Consortium Fee 91 750 68250 Sports Fee 91 100 9100 Sports Development Fee 91 150 13650 CGS Fee 91 20 1820 University Development Fund Fee 91 500 45500 Cultural Activities Fee 91 50 4550 Women Cell Fee 91 5 455 NSS Fee # 91 0 0	E-Consortium Fee 91 750 68250 Sports Fee 91 100 9100 Sports Development Fee 91 150 13650 CGS Fee 91 20 1820 University Development Fund Fee 91 500 45500 Cultural Activities Fee 91 50 4550 Women Cell Fee 91 5 455 NSS Fee # 91 0 0 0					

UG V Sem

SI. No.	Particulars	Total No. of Students	Fees (Per Student)	Total Amount	Online receipt No./ RTGS No.	Date
1	E-Consortium Fee	123	700			
2	Sports Fee	123	750	92250		
3	Sports Development Fee	123	100	12300		
4	CGS Fee	123	150	18450		
5	University Development Fund Fee	123	20	2460		
6	Cultural Activities Fee	123	500	61500		
7	Women Cell Fee	123	50	6150		
8	NSS Fee #	123	5	615		
	Total Amount		0	0		
	Total Alliount		1575	193725		

UG VIISem

SI. No.	Particulars	Total No. of Students	Fees (Per Student)	Total Amount	Online receipt No./ RTGS No.	Date
1	E-Consortium Fee	89	500		- The resemptines of the resembles of th	Date
2	Sports Fee	89	500	44500		
3	Sports Development Fee	89	50	4450		
4	CGS Fee	89	. 75	6675		
5	University Development Fund Fee	89	10	890		
6	Cultural Activities Fee	89	100	8900		
7	Women Cell Fee	89	25	2225		
8	NSS Fee #	89	0	0		
Market Co.	Total Amount in the college as per VTU Circular No: VTU		760	67640		

[#] To be retained in the college as per VTU Circular No: VTU/BGM/ACA-OS/Gen-Cirs/2019-20/5053 dt 26-09-2019

PG MBA III SEM

SI. No.	Particulars	Total No. of Students	Fees (Per Student)	Total Amount	Online receipt No./ RTGS No.	Date
1	E-Consortium Fee	24	1500	36000		
2	Sports Fee	24	100	2400		
3	Sports Development Fee	24	150	3600		
4	CGS Fee	24	20	480		
5	University Development Fund Fee	24	500	12000		
6	Cultural Activities Fee	24	50	1200		
7	Women Cell Fee	24	5	120		
8	NSS Fee #	24	0	0		
	Total Amount		2325	55800		

PG Mtech III SEM

SI. No.	Particulars	Total No. of Students	Fees (Per Student)	Total Amount	Online receipt No./ RTGS No.	Date
1	E-Consortium Fee	8	1500	12000		
2	Sports Fee	8	100	800		
3	Sports Development Fee	8	150	1200		
4	CGS Fee	8	20	160		
5	University Development Fund Fee	8	500	4000		
6	Cultural Activities Fee	8	50	400		
7	Women Cell Fee	8	5	40		
8	NSS Fee #	8	o	Ö.		
	Total Amount		2325	18600		

[#] To be retained in the college as per VTU Circular No: VTU/BGM/ACA-OS/Gen-Cirs/2019-20/5053 dt 26-09-2019